
Lambert-Beer law: A = εCd
A= Abs; ε = abs coefficient; C = concentration; d= thickness


AglassA = εFe2+CFe2+glassAdglassA + εFe3+CFe3+glassAdglassA

AglassB = εFe2+CFe2+glassBdglassB + εFe3+CFe3+glassBdglassB


εFe2+ =

AglassA−εFe3+CFe3+glassAdglassA

CFe2+glassAdglassA

AglassB = εFe2+CFe2+glassBdglassB + εFe3+CFe3+glassBdglassB


εFe2+ =

AglassA−εFe3+CFe3+glassAdglassA

CFe2+glassAdglassA

εFe3+ =
AglassBCFe2+glassAdglassA−AglassACFe2+glassBdglassB

dglassAdglassB(CFe3+glassBCFe2+glassA−CFe3+glassACFe2+glassB)
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